FNAME

REVDATE

USER

MLW 0.0 6X8 Bottom Wale

— angle cut and coat each pile top

Face of sheetlng max 187
channelward of exis bulkheod

2x6 cap, 4 nolls per board
3/4'9 bolt Top at elev 550
30" c/ d
eachc pclle(m // |7 3x6 liner
7 B e e
—= SIS

30 6X8 Top Wale —

6X8 Mid Wale
1’ above bottom wale
3/4’ bolt a each pile

above MW.L
3/4’ bolt a each pile

Varies 10’ max

~HIXEKX

1’ dia x 20’ galv tle rod with
Manta Ray Anchor #MR-SR
# or platipus B10T. load test

\ 6' c/c
16’ vinyl sheet pile

R
1-1/8'8 1D. Detrolt Th-i-hul fitting

used as weep-—holej
Wrap with woven-geotextile
6" Above MLW, 3’ c/c(TYP)

12’¢ butt X 20’ Long, Class B
Timber Pile, 6’ c/c <TYP)
Treat to 2.5 lb/cf CCA

cloc-9000 or ESP 4.1
Min z= 14 In"3

Typica

3/4'9 bolt Top ot elev 530
30" c/c and 3x6 liner
each plle //

| Section

— angle cut and coat each pile top

— Face of sheeting max 18“
channelward of exis bulkheod
2x6 cap, 4 nolls per board

/L —
]

to 15,000 lbs, or concrete dead man

4’ minimum

General Notes

J

#10 x 25* lag 4

6’ Max Corner lock sheet —

Typ top Details

4
6x8 corner brace
f— 3 w/ 3—- 3/4’ bolts —
2x6 ca — .
P—' 3/4 Iool't-l — 6x8 wale
— 0o of T 11 [T Tl T+ o T o '|]' S 1 T CHE|
dlice blo rk "

6X8 Top Wale —

concrete collor

Pipe Inv 0.89

Extend plpe through
new bulkhead. Delete
middle Wale between face

18* Stormdrain pipe

piles at pipe outfall

I,l:’_

Varles 10’ max 6X8 Wale

/j) (\(D

\16’ vinyl sheet pile

FUEIT=
1-1/8’¢ 1D, Detrolt Thri-hull fitting

used as weep-—hole;
Wrap with woven-geotextile
6” Above MLW, 3’ c/c(TYP>

12’¢ butt X 20’ Long, Class B
Timber Plle, 6’ c/c (TYP)
Treat to 2.5 lb/cf CCA

cloc-9000 or ESP 4.1
Mih z= 14 In"3

Section at Storm Drain

Typical Face Detail

6x8 corner brace
w/ 3- 3/4" bolts —

— 6x8 wale

|: ALL HARDWARE AND TIMBER IN
ACCORDANCE WITH TOWN OF OCEAN CITY
MINIMUM PORT WARDENS STANDARDS.

2: ALL HARDWARE HOT DIPPED GALVANIZED
AFTER FABRICATION

3: ALL TIMBER TREATED TO 2.5LB/CF CCA
UNLESS OTHERWISE NOTED.

L: ANCHORS ARE TO BE INSTALLED USING
METHODS AND EQUIPMENT AS APPROVED BY
THE MANUFACTURER. LOAD EACH ANCHOR
AS SPECIFIED AND PROVIDE WRITTEN REPORT
OF LOADING TO THE ENGINEER.

S5: VINYL SHEET PILE TO BE INSTALLED
USING METHODS AND EQUIPMENT AS
APPROVED BY THE MANUFACTURER.

6: STORM DRAIN PIPE MATERIAL WILL BE
PROVIDED BY THE TOWN OF OCEAN CITY.
PIPE INSTALLATION, CONCRETE SEAL AND
ALL FORMWORK TO BE FURNISHED AND
INSTALLED BY BULKHEAD CONTRACTOR.

Face at Stormdrain

Revision/Issue

Firm Name and Address

TOWN OF OCEAN CITY
ENGINEERING DEPT,

301 BALTIMORE AVE.
OceaN CiTY, MD 21842

(410)289-88L5

Project Name and Address

PuBLIC WORKS

POLE BARN BULKHEAD
DETAILS

OcCeaN CiTY, MD 21842

Project

DPW BH DETAIL

Date

DEC 16, 20I4

Scale

1/4" =




